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Instructions to the candidates :

. TEYE-TA A FA TR TA L | At 790 & SR A § | w99 & 1§ Hdfiw
fosreg =& ¥

This question paper consists of five questions. All the questions have to be

answered. Each question has an internal cholce except question no. 1.
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The total number of marks of the question paper i< 300 and the time allotted
i« 3 hours. All guestions carry ecqual marks, unless specifically stated
Atherwise. Answers should be written 1n rhe medium which vou have chosen
in vour Application Form. No marks will be awarded, 1f the answer 1s written
in anv other medium. All the five questions must be answered. Questions
should o snewered exactlv in order in which they appear 1n the question
paper. Answers o the various parts of the same question should be written
tooother compulsoriiy and ne answers o ~ther questions should be inserted
hetween them. Regular caleulater awone can he used in the exam. not the

Qelentific one.
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The first question will be of short answer type consisting of 20 compulsory

questions. Each one 1s to he answered in one or two lines.
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T case there is any error of printing or factual nature. then out of the
Hindi and English versions of the question. the Enghsh version will be

rreated as standard.
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Answer the following short an<wer tvpe questions in 1 or 2 lines each:

(A)

(C)

.

(k)
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Define goodwill according by Lord Eldon.
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Explain break-even chart.
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From the following information, calculate P\ ratio :

Sales Rs. 2.50,000
Variable costs Rs. 1,00,000
Fixed cost Rs. 50,000

i B

(Hy Wiha @md 93" T 999 oY T O99E w1 ANy R O?

What do you mean by Abnormal Effectiveness in process costing ?
(1) & & W ROE @+ & 2
What 1s clean audit report ?

(J) HIHTE g T B 7

What 1z marginal costing 7

What do vou mean by Civil liability of an Auditor ?
Ly FFEE RIS TUH 4 & AN ¥ 7

What 15 meant by audit working papers ?
(M) 39: FH ¥ F AT 5 TEId § 7

What do vou mean by partly agriculture income ?
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Name the tvpes of allowances under the head ‘salary income.
What 15 casual income 7
STH WM W F H FIA G OATR FT AV 72

What do you mean by tax deduction at source ?

T RS ST T F=% ST T T UF 99X UMY 92 T T 3EF YEN faaas

If a constant 1s subtracted from each score in a series, what will be

1ts ettect on standard deviation ?

. nllln.
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Give Fiznzr's irmula oor computning ar Index number.

F

T HEN 5T F] FF UATHF GUEd 5= 5001 FE Sal © 7

When 1s a frequency distribution called positively skewed

distribution ?
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From the following information relating to a company, calculate the value

of 1ts equity shares :

[ssued Equitv share capital — 10000 shares or Rz 10 =acon

Paid up Eguitv snare capitz. — Pz > per oshare

6% Preference shar:s -zvita. — 1.90.000 shares of Rs. 10 each fully
paid

Annual transfer to Genera., Rezerve —  20%

Rate of Tax —  50%
Expected profit before tax — Rs. 2.00,000
Normal rate of dividend —  20%

M1212010 12 (1)
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(Or)
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TEA A — 2%
Thdl B — 5%

gear C — 10%

vaF i # fSaa goeal 9 % T T, 9EE B1H ! TN & T giae 34
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¥ R EF A 9SS g

T=""g= 31 gual T

uferar A uierar B giehar C
- Fo (%.)
QU g 1,000 2.000 1,000
T 9T 3. 000 4,000 3,000
e = 1.000 1,000 1.000
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The product of a company passes through three different processes known

as A, B. and C before the product is complete. From past experience it is

ascertained that the normal loss in each process is as under :
Process A — 2%
Process B — 5%

Process C — 10%

In each case, the percentage of loss is calculated in the number of units entering
the process concerned. The wastage of each process possesses a scrap value.
The wastage of process A and B is sold at Rs. 5 per 100 units and that of

process C at Rs. 20 per 100 units.

The output of each process passes immediatelyv to the next process and finished

units from process C to finished stock account.

M1212010 12 (1)
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The following additional information 1s obtained :

Process A Process B Process C
Rs. Rs. Rs.
Material consumed 4,000 2,000 1,000
Direct Labour 6,000 4,000 3,000
Manufacturing Expenses 1,000 1,:)00 1,000

In process A 20,000 units at the cost of Rs. 8,000 were issued. The actual

output was :

Process A — 19,500 units
Proeesz B — 15 200 unsrs
Proceszs C — 16,000 units

Prepare Process Account.

3. % Bl W W omuiiE Tl F1 STRAm F B (R 99 srarl &
it 7 60

Discuss the procedure to be adopted by an Auditor while auditing the EDP

based accounts..
HIAT
(Or)
TE-T=-Y &l 9Rame 21T wrd frads ge-gweey e %) gaEmEn ) geyre fayy
&l 4T T |
Detine correlation. Explain Karl Pearson’s coefficient of correlation. Also explain

probable error.
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Explain the meaning of Amalgamation and Absorption with example. Also

explain the objectives of Amalgamation and Absorption.

a4l

5.
49 (TF HEE 9 ) 3,00,000
TemE w1 (T v F HATER) 45 000
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7,800
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Ram 1s an employee of the Central Government. She joined on 1 April, 2009.

From the following information, compute her tax liability for the A.Y. 2010-

2011.

Rs.
Salary (including dearness pay) 3,00,000
D.A. as per terms of employment 45,000
H.R.A. (She lives in her own house) 90,000
She and the Government contributed 10% of salary
and DA 1o the pension fund
She paid Rs. 10.000 Life Insurance premium to the LIC.
Payment of Medical Insruance premium 7,800

frefafed 7 9 f&%1 4 (AR) W &% a9 200 v § 9fya fewfrf fafa .

o

Write short notes in 200 words each on any 4 (four) of the following : 15x4=60
() 9 F U W YGE TN 9 dF |

Factors affecting the value of shares.

What do you mean by Zero base budgeting and Performance budgeting ?

M1212010 12 (1) P.T.O.
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On what circumstances the Central Government has the right to get

conduct Special Audit of a company ?
QAR 718", TOIR HIE 9T §OcAsh HIYg H g |

Relationship among Arithmetic mean. Geometric mean and Harmonic

mearl.

Ife FHygF: F g THIVG @l H Fdl IR BA-F9< § U glafsed qrft
T @3 g H osRys w1 efgd W it

Clarify the liability of an Auditor if false and fraud of transactions are

found 1n accounts audited by the auditor.

HATFET T W I T3l & F-Ff & Ty H [gR AfYHa9 =

PIECIERR LA A S

Explain the provisions of Income Tax Act relating to exemption of

gratuity received on retirement.
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Instructions to the candidates :

1.
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i
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This guestion paper consists of five questions. All the questions have to be

answered. Question Nos. 2 to 5 have an internal choice.
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The total number of marks of the question paper 1s 300 and the time allotted
1s 3 hours. All questions carry equal marks, unless specifically stated
otherwise. Answers should be written in the medium which you have chosen
in vour Application Form. No marks will be awarded, if the answer 1s written
in any other medium. All the five questions must be answered. Questions
should be answered exactly in order 1in which they appear in the question
paper. Answers to the various parts of the same question should be written
together compulsorily and no answers of other questions should be 1nserted
between them. Regular calculator alone can be used in the exam, not the

scientific onc.

umuwﬁgﬁﬁﬂﬁ‘mﬁﬂﬁzoaﬁaﬁwﬁﬁlu@%wwqmawaﬁ
RIESR R A-C (1

The first question will be of short answer type consisting of 20 compulsory

questions. Kach one 1s to be answered in one or {wo lines.
el V= W g1 e § OITHT FAH Ul FL |

Wherever word limit has been given. it must be adhered to.

gig fordl gva ° fhdl TR FT FE GO T FETEE FRR K] A B, A W B

-

fe<t 99 3=t &9 O T TS TSR O HE] ST

In case there i1s anv error of printing or factual nature, then out of the
Hindi and English versions of the question, the English version will be

treated as standard.
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Answer the following short answer type questions in 1 or 2 lines each :

A)  ‘famg g ey o ¥ 2
What is “Management by Growth” ?
(B) i vy =1 & 2
What is strategic management ?
(C)  'HUSAE Faeh' W/ ™ RN HAd T O?
What do you mean by Geocentric Manager' ?
D) ‘= fgerw’ 79 T 7
What 1z “Job Description” ?
(E) ‘s w1 e o g7
What 1s ‘Management of Attention’ ¢
(F) ‘Heurf Age’ w3 g ?
What 1s ‘Participative leadership ?
Gy T fEEe Fmm ¥ 7
What is Quality Control 7
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H) ‘wfegs g=-foE =08 7
What 1s ‘voluntary arbitration” 7

I  =vew fagrad w=m g ?
What 1s pioneering Advertisement ?

J) ‘= fav W’ | 9w w1 OANE ¥ 7
What do vou mean by ‘Blue Chip Share 7

(K) 3REl 99) &1 § 7

What is diagonal communication 7
(L)  SNRYE Al SvE 8 2

What is infrastructure bond
(M) GIHEA ® T gRymr @i

(Give one detinition of Listing.

(N) T & fousT=a #1 gaensu

Explain the marketability of 1ssue.

M1222010 12 (2)
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What is ‘Retained Earning 7

(P) FH9 T & T 7

What is Coupon rate ”
Q 5 fawmm w7

What is Treasury Bills 7

®) s e wm T 7

What is ‘capital leverage 7

(S) ‘T W T ANE B 7

W hat ic meant bv ‘Market Share 7

Ty AT eTEEE’ T AT 1T |

Define ‘Motivational Research .

“Ua‘ruwimﬁmﬁaﬂﬂ%,ﬁ'ﬁﬁaﬁaﬁmﬁémﬂwamaﬁw

~

AT | 30+30=60

“\anagement 1z the development of men and not the direction of things.

Elucidate.

M1222010 12 (2) P.T.O.
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HEl &1 ‘' (avgshal vEg fOgra’ & W ®9 9 999 | g8 g5fe & ‘S 99

mer' B fFg wer fysg & 2 30+30=60

txplain clearly the Maslow’s need Hierarchv theorv'. How does it differ from

that of Herzberg's ‘Two factor theory' ?
3. Tdl I ATIIFal 5T FROT 9 8d1 © 2 9gdl ] fafy= fafag w1 999 § gvig
EL 15+15=60

What arc the reasons for the recruitment ? Describe the methods of recruit-

ment 1n brief.

-, - . - - -, ~— . _ . ~— - - - b
faqoq fasm 9 am = 95~ T 7 ST Ty 5 3wTER F79 99 SSEd] F5

FUH FITAT | 15+45=60
What do you understand by marketing mix ? Discuss the forces which affect

the marketing mix.
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How does Reserve Bank of India control the credit policy of the country ?

Explain the various methods of credit control.

HAH

(Or)

Frive gt faveoo @ sy 1 w9 § 7 TH UHR o foverwr ¥ foA fafy
FIUET T FEM fEA S T, I UEE WE OGS &1 gUA &I 15+45=60

What do you mean by working capital analysis ? Discuss the role and limi-
rations of various ratios which are used in such analysis.
5. frafafaa § O s 9 W d9faa oo fFien (7% ST W s

200 I H) 15x4=60

Write short notes on any four of the following (approximatly 200 words for

each short note) :

e,

(1) TIETE Haed +9 3 7
How to achleve environmental control 7

M1222010 12 (2) P.T.O.



(i)  HHEh Higars

Collective Bargaining
Giy Tasmm ws fBfram & ey T8

Advertisement 1s an investment and not a waste

(iv) fofA weram ® & & et g

Decision-making 1s the key of management tunctions

(V) e T i If=ren

Mechanics of factoring

(vi) HESH® IYHA H aFas =t g

Disinvestiment problems of public sector undertakings.
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